

p. 460: 5-15 (omit 8)

$$\textcircled{5} \text{ yes } \Rightarrow f(x) = \sin x \quad \textcircled{6} \text{ yes } \Rightarrow f(x) = \sin x \quad \textcircled{7} \text{ no! (can't simplify)}$$

$$\textcircled{9} \text{ yes } \Rightarrow f(x) = \sin x \quad \textcircled{10} \text{ no } \Rightarrow \text{(can't simplify)}$$

$$\textcircled{11} (\cos x)(\tan x + \sin x \cot x) = \sin x + \cos^2 x \checkmark$$

$$\begin{aligned} & \cos x \tan x + \cos x \sin x \cot x \\ & \cancel{\cos x} \cdot \frac{\sin x}{\cancel{\cos x}} + \cos x \cancel{\sin x} \cdot \frac{\cos x}{\cancel{\sin x}} \\ & \sin x + \cos^2 x \checkmark \end{aligned}$$

$$\textcircled{12} (\sin x)(\cot x + \cos x \tan x) = \cos x + \sin^2 x \checkmark$$

$$\begin{aligned} & \cancel{\sin x} \cdot \frac{\cos x}{\cancel{\sin x}} + \cancel{\sin x} \cos x \frac{\sin x}{\cancel{\cos x}} \\ & \cos x + \sin^2 x \checkmark \end{aligned}$$

$$\textcircled{13} (1 - \tan x)^2 = \sec^2 x - 2 \tan x \checkmark$$

$$\begin{aligned} & 1 - 2 \tan x + \tan^2 x \\ & \underline{+ \tan^2 x - 2 \tan x} \\ & \sec^2 x - 2 \tan x \checkmark \end{aligned}$$

$$\textcircled{14} (\cos x - \sin x)^2 = 1 - 2 \sin x \cos x \checkmark$$

$$\begin{aligned} & \cos^2 x - 2 \sin x \cos x + \sin^2 x \\ & \underline{\cos^2 x + \sin^2 x - 2 \sin x \cos x} \\ & 1 - 2 \sin x \cos x \checkmark \end{aligned}$$

$$\textcircled{15} \frac{(1 - \cos u)(1 + \cos u)}{\cos^2 u} = \tan^2 u \checkmark$$

$$\begin{aligned} & = \frac{1 - \cos^2 u}{\cos^2 u} \\ & = \frac{\sin^2 u}{\cos^2 u} \\ & = \tan^2 u \checkmark \end{aligned}$$